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Question Number : 1 Question Id : 4771873060 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rakesh, a Class-IX student 1s actively involving in co-curricular activities

than curricular activities. This relates to

19T FATT Aa4 =T [T, Teesd ITFATHES (co—curricular

activities)TATATIAT ATEH TIHT ATg. § FHIOTAT A1G1eT AATHT TS

Options :
Inter-individual differences

Intra-individual differences

[ il . - -
FATTha e AqId FiH
2.¢

Both inter and intra individual differences

3. %

Neither inter nor intra individual differences



Question Number : 2 Question Id : 4771873061 Question Type : MCQ Option Shuffling

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT principle of child development

AT TETHT oI ed Al a T

Options :

Development proceeds from general to specific responses

fahrer AT siafammae fFfere afafeiss smar

1. ®
Development follows the principle of interrelation
e TTEaT HaET=AT deA AT 2l
2. %
Development proceeds in the direction of the foot to head
T AT ST AT =9 gl
3.¢¥

: Yes Display

Development exhibits lack of uniformity in the developmental rate of a child

FEFTEeT HAT=1 AFHed TRaa o 994,



Question Number : 3 Question Id : 4771873062 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the periods of development given under List-A with stages as given

under List-B with respect to Erikson’s Psycho-Social Development Theory

T FgT=aT HTATaE-ATHIoF 5 Agia=ar 92979 I141-7 Fa90d Se=4T

FETET==T FTATE =T A — F FFT ST 2oyt @t F7T.

List—- A List —B
Tl - 3 qmar -
(Period of Development) (Stage)
(FershmaT=T FTaT=E) (=)
A) Birth to 1= years i)  Initiative Vs Guilt
-
B ?( J.E ?I'GT
B) 6 yearsto 12 years i1)  Autonomy Vs Doubt
6add 1299 Il (A% 97T
C) 3 vearsto 6 yvears 1m) Trust Vs Mistrust
3T & 6T T fareeg srfamer
D) 12 years to 3 years iv) Industry Vs Inferiority
g 3
) F=T feeg wiegar
1= AT T 3 a7

Choose the correct one

Options :
A-iii, Biv, C-i, D-n

1. ¢

A-1v, B-m, C-1, D-n



A-1ii, B-iv, C-ii, D-1

A-1n1, B-1. C-iv, D-11

Question Number : 4 Question Id : 4771873063 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development of

a child

HAT=AT 9121 9 Tarhrarsft daiea g e drear

Options :

Development is comprehensive than growth

1. #

Growth includes quantitative aspects; development includes both

qualitative and quantitative aspects

12 & TATITCHS aTe i1 AATT F7dl, ThTamTes O Arior
TRATOTCHS Slegl arai=1 qar=97 ATl

Maturation and environment influence child’'s development

Growth i1s comprehensive than development

4.



Question Number : 5 Question Id : 4771873064 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct statements regarding the role of

heredity and environment on child development

FTA AT I (ST AT 9ThaT F ATarasoT Jr=1 qAT=AT SAHETae g or-a1
TROTHTEEAT 0T 3 o SAaal

A) Heredity plays a role in physical development of the child

B) Environment plays a role in the emotional and social development of
the child
HAT=AT AT AT ATATSH [AHETT ATara<or SHET aead

C) Development 1s the product of environment and heredity

D) Learning and maturation influence development of the child

fereror i afagar HAar=A1 AFrEET i Fdar

Choose the correct one:

Options :

A.C.Donly

T ACD

B.C. D only

%@ B.C.D

2. %



A, B, C 01‘11}'

wwA B, C

A, B,C, D
4. %

Question Number : 6 Question Id : 4771873065 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has provided support to a student in performing mensuration
problems and has gradually withdrawn support after the student was able to

perform the problem independently. According to Vvgotsky. this is

T T9TeAsTe U1 = e ara=rH1 (mensuration) T AT IS H2d Hhe |

FTETIAST (Vygotsky) a1 =14 & FgUrard.

Options :

Scaffolding

HATHTE 207

Fading

FHT FT07 [ FAFYT 20
2. ¢

Shaping

Guiding

ORTESTT F00



Question Number : 7 Question Id : 4771873066 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

As per Kohlberg's Theory of Moral Development. in this age, the child behaves

with obedience for avoiding censure by higher authority or social systems.

Tl =41 ATa® AFET=AT HSaTaTe, a1 3970, 37 ATIFH FHar arErsrs

AT T T TI@TATAS] e A THTLHI ATl

Options :

4 to 10 years

4T 1099
1. %
10 to 13 years
10T 1399
2.
3 to 8 years
3T8ad
3. %

8 to 13 years

8T 1399



Question Number : 8 Question Id : 4771873067 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wechsler's Block Design Test, Picture Arrangement Test and Object Assembly

Test belong to this type of intelligence tests.

=TT T (S ATE T1=0T, == A= ST (Picture Arrangement Test)
AT &g HATS AT (Object Assembly Test) AT &= ST AT AT AHTL=AT
FIEATT ATAO=AT A T,

Options :
Verbal
sTTfea®
1. ®
Performance
ISR
2.

Paper — pencil

FITE - ST
3. %
Projective tests

TETT FT=HET

4. %



Question Number : 9 Question Id : 4771873068 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who defined the personality as “the dynamic organization within the
individual of those psycho-phyeical systems that determine his unique

adjustment to his environment”.

ATATALTSHT B HTAT=AT A= Tgoll (A12d Fed™ — el SATHHcaT= 1 AT

Options :
Hillgard
T

Raymond B. Cattel

2. %
Allport
3.¢ t
Carl Jung
FTA S



Question Number : 10 Question Id : 4771873069 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-X completed student wants to continue his study and at the same time

wants to join work to help his family due to socio-economic condition. The

conflict being faced by the student here 1s

ZgTET SO ATAeAT FA=Tea T A= AT q7 SAHAT Alg AT AT qebl
gl T fH=mT=r s S99i=T AT HEET AT A 97 TSt

Options :

Approach-Avoidance

IUTTH — 9

1. %
Avogidance-Avoidance
II\.QI FE_ [qu{
2. %
Approach-Approach
FJUTTH — I
3. ¢
Double Approach

is%‘ IERINE



Question Number : 11 Question Id : 4771873070 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements regarding the methods and approaches of Child

development

ATAAHAT=AT GZdT AT ZEFAEd 0T e Ha=T

A) Case Study Method is not applicable to an individual

B) Introspection Method lacks reliability, vahidity and objectivity

AL 9 (=T [FATaETRar, Taar A7 aEq = 9=41 979 [&aaql,

C) Observation Method can be used to assess the behaviour of an

individual in natural conditions

THE TR TT TETET A h=AT AT oA RS S

TZd =T 9T9% FeAT ATS oThal.

D) Experimental Method advocates the study of behaviour under

completely uncontrolled flexible conditions

qHHAA T

Choose the correct one

I I97 Ha=T

Options :

A B.C.D

A, B.C only

T A B.C



B. C Glllf:

% B. C
3.
A. C. D only
T A C.D
4, %

Question Number : 12 Question Id : 4771873071 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Decision making. Problem solving and Logical thinking belong to this domain

T =07, FHEAT AS 07 AT AT (A=A A7 AT 4

Options :

Psycho-motor

qTIHT — HI27
1. %

Cognitive

b= - ]

2. ¢

Affective

FATHT
3. %

Conative

AT | Tog19Tthi d 94

4. %



Question Number : 13 Question Id : 4771873072 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify those that are relevant to learning

ATt feremmreft AetaT e Aoar

A) Unlearning is also considered as learning
+ T9rRr § 0T TSR0 T AT ST

B) Learning 1s a product and not a process

C) Learning prepares an individual only for any maladjustment
fererT wETET FARRAT Faw FITETR! TH=AT FHE SIS AT .

D) Learning results in behavioural change through practice
AHTHT=H] HT?.‘K-IHE'IJD_!'I- K] ":HUQEQ% TAATd 92 Hgrl AT,

Choose the correct one

T I97 =T

Options :

A.B,GCD

A, B.Donly

T A B D

A. B, C 01113'

wh A B.C



4.+

A. D only

A D



Question Number : 14 Question Id : 4771873073 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the items 1n List-A with the needs they represent given under Lizt-B

ATET — of Wefter ATt ATET — & SAaea feereaT et oA

List- A List —B
qTET - B A |
A} Elders support 1)  Esteem needs
, AT HTAT=AT A1
ATSAHT-ATHT qTI5aT
B) Social status i)  Safety needs
CICHEEREal) BT a1 TTT
C) Sleep i11) Love and Belonging needs
D) Affection iv) Physical needs
ST =TT
AT

Choose the correct one

Options :

A-m, B-1. C-1v, D-n

1. #

A-11, B-1, C-iv, D-11

2.

A-n, B-m, C-iv, D1

Aav. B-mm, C-1, D-n
4. %



Question Number : 15 Question Id : 4771873074 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the correct sequence of the steps involved in

learning process

Options :
Goal. Motive, Overcoming obstacles. Achieving desired behavipural change

[ e

=, %@ ASTHATEL HId T2, TT=ad aa-TcHT dad d1=q HL0[

Goal. Overcoming obstacles, Achieving desired behavipural change, Motive

£, ASHG AL /A T30, 3= adATcHT dad ATE7 200, 2

Motive, Overcoming obstacles, Achieving desired behavipural change, Goal

2, ATHABATEL HIT H701, Fi=gd ad-TcAT a5 HTET HI01, &9
3. %

Motive, Goal. Overcoming obstacles, Achieving desired behavipural change

= =,

&, #99, ASABATEL 71T F200, 3130 Faq1cHT a5 A1 0]

4. %



Question Number : 16 Question Id : 4771873075 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the factor of learning which 1s associated with Men and Material

resources

H1a T ATia® SaTaa7sT Sateara aaer fSreEm=T 9=+ Aradar

Options :

Proper seating arrangement and peaceful environment

AT §5% AIEAT AT STaaraT araraam
1. v

Linking the recent learnings with those of the past

HEATAT FNATTAT T | aTeAraie (Sreomsit S

The basic potential of the learner

TSRO oA A |

3. %

The level of aspiration and achievement motivation

ATHTEAT ATTT FFAT FT0T= =7

4.



Question Number : 17 Question Id : 4771873076 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the theories given under List-A with the basic principles given under

List-B

GTATA ATal — A AN [adol HGid T30 — & Al faerel gasa a<aisft sar

List- A

qTal — 3
(Theory )
(Fr)

A)  Operant conditioning

T (ST AqTA (HT
(ATiZ HISeTT)

B) (lassical conditioning

ST AT (5207
(FATIEFA FHiSeri=T)

C} Trial and Error

Choose the correct one

T 397 =TT

Options :

i)

iii)

iv)

Lizt —B
el —a
(Principle /Laws)
(T [ F193)

Learning is based on the
principle of association and
substitution

fraRmT g wreg=d Ao giaearaaT=aT
qTATET AT T AT
Stamping 1n correct responses

and stamping out of incorrect

I‘ESPGI].SES
AT FAATE (=20 [ Ige
ETa

Emphasis on perceptual

regrganization

(TEUTTeH) ATLITHT [TEHIAATL AL
Emphasis on response rather

than stimulus



1. ®

2. ¢

A-1i, B-1, C-11

A-iv, B-1, C-11

A-iw, B-ii, C-1

A-m, B-wv, C-n



Question Number : 18 Question Id : 4771873077 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-V student observed the Gardening work and plantation activity of
high school students at school. He planted flowering plants at home. The

action of the student reflects this step of social learning.

AT AT =T Tt sea T SEE=aT et Foe aETE T FAT A

Options :
Attention
AR 2
1. %
Performance
FrATIIA
2.
Remforcement
3. % T

Retention

ATSAI BT (ETEIT9TTh)



Question Number : 19 Question Id : 4771873078 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following. identify the aspects that can be transferred from one

situation to other situation of learning.

AT FITT T2 T (97T adia g9-A1 Fadia gearata grs awar.
A) Habats

AT

B) Knowledge
AT

C) Skills
HIT

D) Feelings

qTaAT

Choose the correct one

Options :
ABCD
1.+
A, C.D only
. % Th A C.D
B. C. D only
T B.C.D
3. %
A.B.D only
Twm A B. D



Question Number : 20 Question Id : 4771873079 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Class-VII student tried to recall the concepts of Class—VI but the concepts
learnt in Class-VII are interrupting him. This 1s due to

AT ATAE =41 THT A=ATSA T SATT AgTAT=AT HHeqa=T1 A9 TFA HedT T
AT ATAA 0T Toheded T HFeda1 ATAT A=HesT AT ATgd ATH BT

Options :

Proactive inhibition

T — A i
1. %
Repression
R
2. %
Amnesia
LR
3. %

Retroactive inhibition

TEA T Aidad
4.«



Question Number : 21 Question Id : 4771873080 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Suggest the aspects which help individuals to improve their memory and

retention abilities

A<= THITTh 7 S0 AHAT HITEOATATS] Haq F2012 925 AT,

A)  Appropriate motivation

T 70T

B) Over learning

ST 9T (ATTFATR)

C)  Being more emotional
ATEF ATIF 200

D)  Association of ideas
[ERIE RN BRI R PG

Choose the correct one

Options :

A.B.C.D
1. #

A.B.Conly

T A B.C

A.B.Donly

WA . B.D
3. ¢



B.C. D only

L% T B.C.D

Question Number : 22 Question Id : 4771873081 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The educational programmes such as Acceleration and Enrichment are to be

followed by the teacher to deal with these students

A7 ATt 2Aaer FeoATast forasi Tt At s a1 ared GEioT

Options :

Gifted

PIGECICIE
1.9

Learning disabled

IEERZIGIE AR

2. %

Physically challenged

ST 33T Fa ¥ [ =He T

Slow learners

T e

[



Question Number : 23 Question Id : 4771873082 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this learning, Learners initiate and advance their learning by more

experienced partners

AT fereorTa, TOr6omTe srferd Aqe=l S8 a =471 Hadid &=a:ga (9T gaara
FIATT AT I ST

Options :

Insightful Learning

st ot fea

Imitational Learning

. ATHLOA {90

2.

Programmed Learning

EARERIGREE R

3. %

Guided Inquiry Learning

Artatsta st farsor
4.



Question Number : 24 Question Id : 4771873083 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has to follow these steps to improve individual learning among

students

[ERIRRIR I A Rl R PR I IR E T A R A

A) Set clear and specific goals

=72 arior fatere sfee Miaa s
B) Malke goals dynamic with revision at regular intervals
IR b Tach] TETae (AT Tasiier FT
C) Involve parents
D) Let students own their progress
FEEr= AT =31 T =T Saraariy o Aar
Choose the correct one
T 397 ==t
Options :
A, B.Donly
T A B. D
1. ®
A, B, Conly
T A B C
2. %
A, C.Donly
T A, C, D
3. %
A, B,CD

4. ¥



Question Number : 25 Question Id : 4771873084 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In SQ3R method. the learner has to follow this sequence

SQA3R TZdt T=A, TeFT-ATEAT FT TTBTAT AnTar

Options :

Survey, Question, Review, Read, Recite

HAAT, T, TALTGA %, AT, TBIAL

1. %
Survey, Question, Read, Review, Recite
HAE, T, AT, AL [, ATBAT
2. %
Survey, Question, Read. Recite, Review
HAHOT, WA, AT, TB1q7, TA21aE (%]
3.

Survey, Read, Question, Recite, Review



Question Number : 26 Question Id : 4771873085 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Phases of teaching given under List-A with the assoclations given

under List-B

ATEl — 3T AT [SeA=aT AFTIAT=aT 0ATH | Aol — F FANd (SdedT IT=aT9(1 Aaread

aratsft et F27
List- A List —B
AT - A T — 7
(Phases) (Association)
(=) GEIEREIED
A) Pre-active 1) Conducting Group activities
n the class
ESRELN x .
AT T2 THATHATT TraTi=or
B) Inter-active i1) Giving home assignments
C) Post-active 11) Writing lesson plan
FTATHAT / Feqarae BT T Tt

Choose the correct gne

I 397 Ha=T

Options :
A-1, B-11. C-1

1. ®

A-1ni, B3, C-u
2.

Ao Bonioa
3. %

A-11, B-1, C-11
4, %



Question Number : 27 Question Id : 4771873086 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following strategies has less scope to promote group learning

among learners?

Options :

Discussions

EEIl

Brain storming

EEIES:PC]
2. ®
Lecture cum demonstration
FATSATEE 9390
3.9
Seminars

IR R



Question Number : 28 Question Id : 4771873087 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement among the following regarding guidance

and counselling

HTESTT AT AT T HTATA A FTATATHT = [T AT

Options :

In directive counselling. the counsellor plays an active role in

understanding problem

REeTToA® AT, AHTLTT TR T ATHTATST AT ST

CEICLIE

1. *®
In non-directive counselling. the counsellee plays an active role
AT ATCHT THILATT, AT HI6T BT AS1900

2. %
Directive counselling 1s also called as client-centred-counselling
FRZeTTens AT aATH FATHE — Flad THT 3G Fgoramd,

3.¢

Vocational guidance helps in career planning and professional

development

ATAATHE AT HLA7 HATT A1 ATFATEF FFEe ged F0d



Question Number : 29 Question Id : 4771873088 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the learning styles given under List-A with the activities given under

List-B

ATET — o TeTer Taerear foramar=1 Seft srfor a1at — @ A faeed T STHa=1 (il

FAT
List— A
qTal - 3

(Learning style)

(FSTaFmaT=T Sreti)

A} Visual learning

FEATATIA [ S9ATTHS (9787

B) Auditory learning

1= fererT

C) Kinesthetic learning

ERIRERCIE R

Choose the correct one

Options :
A, Bm, Cmu

1. ®

A-11, B-1, C-m1
2. ¢

Az, Ben, Coail
3. %

A-11, B-1, C
4. %

List —B
qal -

(Activities

()
1)  Listening to tape recorders

é-q—“‘_" 'qaié‘_" ”qaﬁ
11) Understanding Gestures

i11) Preparing models

LY = ‘f



Question Number : 30 Question Id : 4771873089 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher can promote team work, leadership. conflict management and

interpersonal skills among learners in this type of learning

T THTC=AT (9reTTa, f9reres TE=meataey qitas &, 9qoT, T99 AGeGTIT AT
Ao TTh Freed ATHTod H% Thdl.

Options :

Co-operative learning

HEF A cH® [9TemT

1. ¢

Teacher-centric learning

9T — Ffge Torerm

2. %

Self-learning

= — AT
3. %

Subject—centric learning

e — wfea feraamm
4, ®

Language I Marathi

Section Id : 477187102
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 477187161



Question Shuffling Allowed : Yes



Question Id : 4771873090 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

o FHH 31 T 35 =T ITqL I [FeiedT HiAd=a1 AT T 97 Ha=A gl

o AT HSA HATITHAT ST
AT @ebl 2l STAT AT ATl ||
EH-AT FATAT AT AT AT

o asf= st 7o 39 ==aat ||
ATFETH AT [HA {9reaoT 3t 1|
EIAid AT T 2 1d aF =41 g 1
AU A THH, BT S

AT ST HLOATAT, 51 G2 ||
T ATH AT ieT g &7 o $TTaT
ST 39ETST T Fid dTat ||

Sub questions

Question Number : 31 Question Id : 4771873091 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT HAAIT FAd 11 HITTH A0 el 38 2

Options :

9T
1.¥

Question Number : 32 Question Id : 4771873092 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

STTebqA HIoTd &< Tzt fHesard ?



Options :

" .
1. %

EEREIE
2. -

r’il:ia ?; ]q a“
3. % '

L

4, %

Question Number : 33 Question Id : 4771873093 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T e ITTeHAT HITd | IJTHT fadt =g ?
Options :

ATATITHT
1. =

2 -
Lell=4T 4191

2.

) = e 1:.
3. %
4, ®

Question Number : 34 Question Id : 4771873094 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

E=metaT e AT #1 aed ?

Options :



fsraT

Question Number : 35 Question Id : 4771873095 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FITRTATATET 9T HIOTAT TATE Fd ?
Options :

EEIR ATBT:
1. v

. ;

Sub-Section Number : 2
Sub-Section Id : 477187162
Question Shuffling Allowed : Yes



Question Id : 4771873096 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)
T FHIF 36 T 40 =T ITL DT [GeedT IAT-AT=AT AATE AT THF [Fa=A (gl

ArepslT ATTA g1 Add ACTHT ATAT Flq AL, T G HIH HLOMLN FTTH ATLH
T Ay A AWAL TAS TE-AgT AT AT 2 e ardt et s, a7 a@t @
HAd HTH FLd T2, I a6 T(gedrd #d AGH dledl. 3ae Teadhld g AATd oae
TTesl i, T &1 Jad U STd AAal. HOE T el A16a fhar Hisd1 9=21ae 8«1 a40 al
TF T FH F7d Teed AT H21aT Id1, Fg0A a7 Agl [4ad 1 Hedaras Taaril agi
I, AT [t saaTa Alesd TSTHTIEAT 1T AT9eAT ATFS 4 B0 F0d, ATTAT Za ST9T4T.

Sub questions

Question Number : 36 Question Id : 4771873097 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
” ]:\E W EI iir: i ai:\;l ;IE_'I""‘qu iilq @%?

Options :

. SEIT T dAd
1.
, x S

AT ATHA FTEar
3. %

4. %

Question Number : 37 Question Id : 4771873098 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

:H ]Ha 'flai Elﬂﬁq“q Qr\ll:{:_zﬁ?
Options :
T =TT
1. %
agl —dMT



Question Number : 38 Question Id : 4771873099 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TE=AT feaeft 17 F2rer o8 s 99 ?

Options :

A g9 75T

1. %
2. %
Zard THA S
3. ;
ERIEIREAC]
4. %

Question Number : 39 Question Id : 4771873100 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

1. *

2.9

[EREEIERI I G
3. %
L AR

Question Number : 40 Question Id : 4771873101 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



FTBTHT FTSTET HIOTAT ?

Options :
| T AdT /1 1T

3.9
AT 4T AT E AT
4. % ' '
Sub-Section Number : 3
Sub-Section Id : 477187163
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4771873102 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HT AT =FT=AT &= 719 T ?

Options :



Question Number : 42 Question Id : 4771873103 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Options :

HIT9T TV TTIFT

TR TS
2. %
3. %

7 "=
4,

Question Number : 43 Question Id : 4771873104 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
L
1. ®
T
2. % '
3. % =
o



Question Number : 44 Question Id : 4771873105 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TTATET AT ATHTSE STeaT=T (&g Horar ?
Options :
1. %
TSI AT=T
2. %
ST ATST
3.

Question Number : 45 Question Id : 4771873106 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SIfErET T STeRTd (e AHTE HOTAT?

Options :
FHLYTA
1. *
EE
2. %



Question Number : 46 Question Id : 4771873107 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
o a9 AT ATET
STTRT ST AFFAT
2. %
EHEEIEERT]
3. %
E:?QE qh ATHIT
4. &

Question Number : 47 Question Id : 4771873108 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
el AT STeRT= T AATAT] THAAT 9753 HI0TAT ?

Options :

d
1. %

W
2. %

ER]
3.9

i



Question Number : 48 Question Id : 4771873109 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

B AT S 2T FAA T AN AT,

Options :
1. % : gt
T8 AT
2. %
HATH AT
3.¢
AT T HIOTT ATRT
4, %

Question Number : 49 Question Id : 4771873110 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ST T S AT T AT S T S ?

Options :

o \
1. %

AT
2. %
3.9

6T Ia



Question Number : 50 Question Id : 4771873111 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

LRI |
1.

eIt W

oTTeT 78

Aadd TH

Question Number : 51 Question Id : 4771873112 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T Tea AT ST AdAAT 9Tez FIaT ?
Options :
FATH
1. %
2. %
s
3%



Question Number : 52 Question Id : 4771873113 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ST T 4-,|\.rw44-||'4«1|5=‘| HdEY Hld-d Thddd '_'”_Q‘I

Options :

FTETET T
1. %

fefreor ot
2. %

AT

3. %
4.

Question Number : 53 Question Id : 4771873114 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT AT &= A4S

Options :



Question Number : 54 Question Id : 4771873115 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ATEATA I AT ATALAT AAAA T15F BT ?

Options :

Question Number : 55 Question Id : 4771873116 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

"FY HAT HATE, STAT TAT og[Ta?” & 77471 BT 2
Options :



Question Number : 56 Question Id : 4771873117 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. ar. fawarss7 wgorst ?
Options :

qIST A

Question Number : 57 Question Id : 4771873118 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

HA ATAT TTAFT FgA (97 o [ AT
L. '

A AT AT f9r o |

2. %
3. %



Question Number : 58 Question Id : 4771873119 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
HITSTAT THATS BT 51 ATH ATAT g ?

Options :

Question Number : 59 Question Id : 4771873120 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TCHH 95 FEOTS AT AT STH=4T TH Ao 9Tem.

Options :
1. %

FTEAT
2. %

EACE
3. %



Question Number : 60 Question Id : 4771873121 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
M FITH J1Ee AT ATFATT TH 6T HIOTAT ?

Options :

4, %

Language II English
Section Id : 477187103
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187164

Question Shuffling Allowed : Yes



Question Id : 4771873122 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:}I 13 a multinational initiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011, though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe, the United States of America, Russia,
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget. according to the
agency's Office of the Inspector General

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space statlon 1s allocated to different space agencies based on their financial and

other resource contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771873123 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to various

space agencles based on the following contribution.

Options :

soclal service-related
1. %

environmental
2. %

finanecial and other resources
3.+



educational

Question Number : 62 Question Id : 4771873124 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continuous human presence since the year
Options :

1. %

2. ¢

1998

2011

Question Number : 63 Question Id : 4771873125 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement about the International Space Station (ISS).
Options :
It 1= a multinational initiative and the smallest single structure ever

constructed by humans in space.

1. %
It is a multinational initiative and the largest single structure ever
constructed by humans in ocean.
2. %
It 1s a multinational initiative and the largest single structure ever
3 o constructed by humans in space.
It 1s only NASA's initiative and the largest single structure ever
constructed by humans in space.
4.

Question Number : 64 Question Id : 4771873126 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. %

Rusasia
2. %

Japan
3. % B

The United States of America
4. &

Question Number : 65 Question Id : 4771873127 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA), the ISS operates as a collaborative

program of the following.
Options :

Europe. the United States of America. Russia, Canada. and Japan
1. v

Europe. the United States of America, Russia, India. and Japan
2. %

Europe. the United States of America, Germany, Canada, and Japan

Europe. the United States of America, Russia, China and Japan
4. %

Sub-Section Number : 2
Sub-Section Id : 477187165
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771873128 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :
They, there

1. %

There, their
2. %

Their, they

They, theiwr
4. ¢

Question Number : 67 Question Id : 4771873129 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following two sentences.
Sentence A: She came here to studying at the college.
Sentence B: She came here to study at the college.

Choose the correct option.
Options :

Only the sentence A 1s correct.
1. %

Only the sentence B 1s correct.
2. ¢

The sentences A and B are correct.

The sentences A and B are imcorrect.



Question Number : 68 Question Id : 4771873130 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

% fastly

quick
2. %

- quickly

slow
4. %

Question Number : 69 Question Id : 4771873131 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1.

gave up
2. %

glve up
3. %

ave back
4% B



Question Number : 70 Question Id : 4771873132 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him politely.
Combine the two sentences.

Options :

Sharath will not obev yvou unless you talked to him politely.
1. #

Sharath will not obey you unless you don't talk to him politely.
2. %

Sharath will obey you unless you talk to him politely.
3. %

Sharath will not obey you unless you talk to him politely.
4.

Question Number : 71 Question Id : 4771873133 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.
1. ®

The car was being driven by my brother.
2.¥

The car was driven by my brother.
3. %

The car had been driven by my brother.
4, ®



Question Number : 72 Question Id : 4771873134 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me your cycle.’
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his eycle.
1. ®

I requested my friend to lend me your cycle.
2. %

v I requested my friend to lend me his cycle.
3. %

My friend requested me to lend his eyele.
4. ®

Question Number : 73 Question Id : 4771873135 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he 1s right.
Identify the meaning of the word "abundant’.

Options :

ample
Lo T

meagre

minimal

scant



Question Number : 74 Question Id : 4771873136 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history is profound.
Identify the opposite meaning of the word ‘profound’.
Options :
sincere

1. ®

scholarly

erudite

superficial
4.

Question Number : 75 Question Id : 4771873137 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The study of birds is called

Options :

anthropology.
1. #

ornithology.
2. ¥

- zoology.

mythology.
4. %



Question Number : 76 Question Id : 4771873138 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the meaning of the idiom "a dark horse’.

Options :
A wild animal
1. %

A black horse

An unknown entry
3. ¢

A front runner
4. %

Question Number : 77 Question Id : 4771873139 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. #®

maintenence
2.

exclamatory
3. %

colleague
4, %



Question Number : 78 Question Id : 4771873140 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.
Options :

Conversion of agriculture into forests land 1s weakening India’s monsoon.
1.

Conversion of forests into monsoon land is weakening India’s agriculture.
2. %

Conversion of monsoons into agriculture land 1s weakening India’s forests.
3. %

Conversion of forests into agriculture land is weakening India’s monsoon.
4.

Question Number : 79 Question Id : 4771873141 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily yesterday, 7

Choose the correct option to complete the sentence.
Options :
wasn't it

1.

1B/n’t it

18 1t

was 1t



Question Number : 80 Question Id : 4771873142 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him, he herself picked the bag.

A B C D
Options :
A

Question Number : 81 Question Id : 4771873143 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

All the five man’s were very energetic and eager to perform their duty.

All the five men were very energetic and eager to perform their duty.
2.

All the five mens were very energetic and eager to perform their duty.

All the five men was very energetic and eager to performed their duty.



Question Number : 82 Question Id : 4771873144 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country, people often
Q:the best and the most intelligent.
R:as less capable or inferior in comparison.
S:while viewing people from other countries
T:believe that they themselves are
Choose the correct option.
Options :
P,Q.T.E S

PToE R
2.

P.R.Q.T.S
3. %

P.T.R.Q.S
4. %

Question Number : 83 Question Id : 4771873145 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

) The wisdom is the gift of heaven.

The rose 1s the sweetest of all flowers.
3. %

The darkest cloud has a silver lining.
4. %



Question Number : 84 Question Id : 4771873146 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :

laid

Question Number : 85 Question Id : 4771873147 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 15 a/an

Options :

atory.
1. #

conversation.
2. %

speech.



Question Number : 86 Question Id : 4771873148 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of ‘Spiral Curriculum’ is

Options :

Bruner
1.

Noam Chomsky
2. %

Antony EM

Brendan J. Carroll

Question Number : 87 Question Id : 4771873149 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom, an English teacher should create an environment
that is

Options :

focused on writing and giving home assignments.

1. %

strict and following formal methods of teaching.
2. %

stimulating, inclusive, and focused on student participation.
3. %

teaching and learning that relies solely on the textbook.



Question Number : 88 Question Id : 4771873150 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme 1= inappropriate for the English mstruction at the primary

level.

Options :

Friendship and Kindness

Sports and Games

Home and School

World Heritage and Culture

Question Number : 89 Question Id : 4771873151 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main goal in teaching the skill of speaking 1= to
Options :

memorize the vocabulary and reproduce.
1 *

express oneself intelligibly, reasonably and accurately.
2.

assist learners in writing without making srammatical errors.
3. %

develop reading skills through speaking activities.
4.



Question Number : 90 Question Id : 4771873152 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B:  Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 1s correct.

1. #
Only the statement B 12 correct.
2. %
The statements A and B are correct.
3. ¢
The statementzs A and B are incorrect.
4. %
Mathematics
Section Id : 477187104
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187166
Question Shuffling Allowed : Yes



Question Number : 91 Question Id : 4771873153 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rational form of 3.7 is

3.7 9Ty egET

Options :
37

100

37
99

34
99

Question Number : 92 Question Id : 4771873154 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[(—3) x (=4) x (=5) x (=6) x (=7)] =

Options :



Question Number : 93 Question Id : 4771873155 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The population of a town 1s 108090. Out of which 29040 are men and 28105 are

women and the remaining are children. Then the number of children is

T e ArhEEaT 108090 Hg T Tt 29040 T=T 28105 HIGAT Arad AT ILeA|
ﬂT:f ?ﬂ!%ﬁ a7 H Eik:EIRET

Options :

50845
1. ®

51945

4.9



Question Number : 94 Question Id : 4771873156 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects in an examination are 228. If the average
marks of 3 subjects is 56, then how many marks did the student get in the fourth

subject?

TRT =T T T 4 =T U 07 228 et Arg 7 3 FeEy J2edy O
56 FECIA T F 1241 [aoATq fa=rmeier fodt 0 fHerd

Options :

60
3.¢

64



Question Number : 95 Question Id : 4771873157 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?
& HEAT HATT Al ATUF Ae.

Options :
98

| % 100

23
25

10

11
3.¢

57
g 09



Question Number : 96 Question Id : 4771873158 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

; : 1 : . : ;
If each side of a triangle o rd of its perimeter, then type of the triangle 1s

.\ . 1
ST POt S T AT AT — ST T8 a7 @7 HR o= 9w
Options :
Ispsceles
ﬂqi%‘ﬂﬁf
1. %
Equilateral
2. ¢ i

Right angled

FTEHTT
3. %

Obtuse

IEEIERETGE
4, %



Question Number : 97 Question Id : 4771873159 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following number is divisible by 67?

aTefier ST F T ST 6 3 quSr S T
Options :

179184
1.

[a—
e
Ll
%]
L]
e

['a]
=
=
[
h
[t

726352

Question Number : 98 Question Id : 4771873160 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of millimetres in 100 Kilometres 1s
100 foreirefiar mr et Foreft st a2
Options :

5
1.331‘{]

107
2. %

)i

108
4. &



Question Number : 99 Question Id : 4771873161 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges in a tetrahedron is

TEI_FFDC‘}F'I?"I?ﬁT'I' (tetrahedron) FETHT HEAT

Options :



Question Number : 100 Question Id : 4771873162 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60cm long wire is used to form following shapes. Which of them will have
shortest side?

60 HHT AT ALATHA GTATA AR TATE FLIATT ATl AT HEH AT AT AT

ATAAT ATHIE HITAT AR,
Options :

a square

EIEL:]

1. %

an equilateral triangle

2. %

a regular pentagon

[ERIECREEIC]

3. %

a regular hexagon

ERIEGREEIC
4. <



Question Number : 101 Question Id : 4771873163 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

38X38X38-26X26X26
38X38+38X26+26X26

Options :

12
1. ¢

144
64

1728

Question Number : 102 Question Id : 4771873164 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the cost price and the selling price is 8:10. The profit percent is

gial foda Ao skt Eadt = 9979 8:10 A8 a7 =g a1 A ol g
Options :

509

2.¢



Question Number : 103 Question Id : 4771873165 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct?
Options :

v 15
15 tenths = —

_ . 15
15 =it ==

| % 10
3025 grams = 3 kilograms 25 grams

3025 TTF = 3 ThA TR 25 9T
2. %

Area of a rectangle 4.5m X 0.5m = area of a square with side 15e¢m

AT AATD 4.5m x 0.5m = HITATH #A%e 15 947, a1 AFA=
3.¢

0.016 =16 x 10~



Question Number : 104 Question Id : 4771873166 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The place value of 0 1n 2225.106 1s

0 ¥ TATHT 2225.106 =T 1S A1
Options :
Hundreds

lﬁﬁw

Hundredths

=
4 THITET AT



Question Number : 105 Question Id : 4771873167 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
—— i ! : ' ) 2
Ramu gave his sister = th of chocolates available with him. He gave his brother =

rd from the remaining and left with 48 chocolates. The number of chocolates

available with Ramu at first 1=

" 1 L L
T TAT=ATHS AHAAT Wﬂ?ﬁgwmaﬁﬂﬁm% STAAT AlHAEA THhT
2 - y W
= TRT T ATATAT T AT ATAT Fie Ga2T 48 FlFA2H 37 q¢ TTHHS S[HaTa it
el T SToheizd 2rd.

Options :

180

360

480

Question Number : 106 Question Id : 4771873168 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers 1s divisible by 2, 3, 6 and §?

ATA T ThT HIeAT G991 2,3,6 AT 8 7 AT 574
Options :

| % 24810

43888
2. %

34800
3.¢

42316



Question Number : 107 Question Id : 4771873169 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 men can complete a work in 24 days, then 12 men will complete the same work

in how many days?

4 =9 U F1H 24 fEEam g #2419 a7 12 29 97 18 G 9o F2d .
Options :

N
| ® 12

]

4. &



Question Number : 108 Question Id : 4771873170 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

35m? is the area of

3s5m? g 9T Hwe AE.
Options :

A square having side 35m

35 HI. aTs] AHAAT F AT

5 squares having side 7m each

qeaht 7 |, A 5 S 9H

5 squares having side 1m each

geehT 1 |, AT 35 F19A
3.9

7 squares having side 5m each

FoAht 5 dT. AAAA 7 17 H

4. %



Question Number : 109 Question Id : 4771873171 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands § hundred sixty-nine in numerals can be

written as

T FIET HET AT AT 12 ATSST UFT A7 & ATTHEA

Options :

30604869
1.v

360400869
2. 8

36004869
3. %

306048069
4. %

Question Number : 110 Question Id : 4771873172 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
(3°)* =
Options :

38

1. %

63

2. %
92

3. %

277



Question Number : 111 Question Id : 4771873173 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. T
There are 72 students 1n a class. If the number of boys 1s - times the number of

girls, then the number of girls 1=

Options :

.
1. % 21

, @ 45

Question Number : 112 Question Id : 4771873174 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of points present on a straight line are

HIch Tl fdg= 1 Jen
Options :
0
1. #
2
2. %
C0
3.¢



Question Number : 113 Question Id : 4771873175 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following i1s an even integer when 1 1s an odd integer?

arette Tt Hrordt @ Iof AHEEAT g Segr n @It fAaw deEr ae.

Options :

5n+8
1. ®

3n®+5
2. %

3n? +4

4n? — 5

Question Number : 114 Question Id : 4771873176 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If sum of prime numbers less than 25 is A and mean of odd numbers less than 10 1s

A
B. then — =
B

S 25 TAT FHT AT TE Hep HEATH T A A A A7 10 FeAT FHT Awerear FHy

Mﬁmﬂﬁﬂﬂﬁw%=

Options :

20
1.¥

]
N

18
4. %



Question Number : 115 Question Id : 4771873177 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematics?

Options :

It involves abstract thinking and logical reasoning.

1.

It 15 limited to solving routine classroom problems.

It 15 exclusively concerned with principles.

2 e Frgiatsh dataa o,

It 15 a language used only in art and engineering.

g AT AT ATHATERT Hed FTAT Wl ar92el ST U 9797 Ale.



Question Number : 116 Question Id : 4771873178 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a child 1s consistently struggling to count beyond 20. what should a primary

mathematics teacher do first?

ST UGS Aol ATGAT 20 =T 2 AT G259 H3d AHA T AT T (STehre
L éﬂwm 'q-'”a.
Options :

Doing challenging addition problems.

FHIST a4 1 AHEATET HTH HIOT
1. %

Reciting the numbers.

Conduct of daily tests.

FELS AT =,

Strengthening counting skills by utilizing conecrete objects.

BTH Fd ATT5 HIST HI9Ted AT 701,
4,



Question Number : 117 Question Id : 4771873179 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A rubric 1s:

=l g

Options :

3. ¢

4. %

A standardized test prepared by the experts.

A multipheation and division trick to answer within seconds.

FAB Tl Ahard 307 (HBATATHTST TUMHTZ AT AR Iohl

A scoring guide that provides criteria for assessment.

A graphing tool to solve algebraic equations and algebraic problems.

AT AT F W SIS SUATHTST aT94Td AT AT ATEA.



Question Number : 118 Question Id : 4771873180 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the features of mathematies listed in A with their corresponding actions in B:

A wefter srfvrar=at Afver= B #dfie safaa Fveft sgan

A)

C)

A
Creativity

Analytical Thinking

[EE R ERC A ES

Communication
AW (1Y)

Conceptual Understanding

THeTATcH® TH

Choose the correct answer

Options :

3.¢

A-1, B-1iv, C-11, D-11

A-m1, B-1, C-11, D-av

A-m, B-1. C-1v, D-11

A-iv, B-1, C-11. D-11

i)

1ii )

iv)

B
Breaks down problems logically

In-depth content knowledge

T AaTaTT

Use inngvative methods

Explaining mathematical ideas

Ot oA T T .



Question Number : 119 Question Id : 4771873181 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The mstructional objectives are:

o TcHS 3 4.“‘[
Options :

More related to classroom teaching.

. T AT e Tsreaorstt aies gataT s,
1. ¢

Achievable in the long term.

AT TR RTA T FTATTEH T ATET AT SATAT.
2. %
More abstract.
. ATIF AT AT,
3.

MNot measurable.

4.



Question Number : 120 Question Id : 4771873182 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to guess. "If a square piece of paper is cut diagonally,

what shapes will be formed?"

oY fersAeRT e EETe 5 S S = FeETET et G T0d e a7

o MR [ad

FHIIT ATHIT TATE gr i,

A) Two rectangles
2 AT

B Two circles
a4 Ao

C} Two triangles
ACREEIR
D) One triangle

This question relates to this academic standard.

AT FATAT Ao SteAtors 47 FAwaieff =g,

Options :

Connections

Visualisation

399 &7 FeddT
2.9 °F

Problem solving

THET A=

3. %



Reasoning and proof

4. %

Environmental Studies

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

477187105
5

Online
Mandatory
30

30

30

0

1
477187167
Yes



Question Number : 121 Question Id : 4771873183 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plants can be classified into the following categories

A) herbs

B) shrubs

(Choose the correct answer

Options :
A & Bonly

T A #ATT B

B & C Olllj.'

& B Ao ¢

2. %
A& Conly

wh A T C

AB&C



Question Number : 122 Question Id : 4771873184 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Riya often peels vegetables like carrots and cucumbers before cooking. Her
teacher advised her to use them with the peel whenever possible, as it helps
improve digestion. The food component in the peel that is likely the reason for

this advice is:

AT T2 AT FTHST ATEEAT AT ATA AT (9r9ad, fo=A7 ferarwit e s
AT deT ATATATE T ATTLTATHT Foel f3eT, FIE0T ATHS THATH Had gid AT i
FAROITET AAT HIOTAT 2 ATG SATHS &I Feel 15l

Options :
Protein

1. ® KRR}
Fiber

2.¢ L
Fat

3. % *
Vitamin

4 % SETEC



Question Number : 123 Question Id : 4771873185 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about hermaphroditism.

FHATA gATRITS (EFA (hermaphroditism) &=t T e =T,
Options :

Hermaphrodites can only reproduce asexually.

I (hermaphrodites) wth FARE TS+ % hdTd.
1. ®

All animals are hermaphrodites by nature.

T4 9oft A=fF e AT (hermaphrodites) AT

Hermaphrodites possess both male and female reproductive organs.

IAATAT (hermaphrodites) HET 97 & HIAT Flval S 14 AAATT
3. ¢

Hermaphroditism occurs only in plants.

IAATAT (hermaphrodites) FTh a&Tdl HET ATesa
4. %



Question Number : 124 Question Id : 4771873186 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary purpose of rearing the Kangayam bullock 1s:

Options :
Racing
ar=

- T

Milk production

& Joarad
2. %

Drought work

Wool production

E;il’:[ ? a ERIED)



Question Number : 125 Question Id : 4771873187 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the device, commonly used in industrial chimneys to reduce air pollution

by removing particulate matter from flue gases, from the following

AITRIF GITSTHES GITITEA FH001F T FIga 2195 919 T5T0T FHT HL0ATET5T0
Options :

Gas turbine

T ZTdTe

Electrostatic precipitator

ia_r;l Jij-. E;Gl _‘iF'_.fia aifd fa?,;‘_
2.¢

Heat exchanger

Blast furnace

e idd
4, ®



Question Number : 126 Question Id : 4771873188 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing for the presence of starch in a food item should be done on:

A) Cooked food

EEEEEER]
B) Raw food

EEER]

C]:LGDSE‘ the correct answer

Options :
A only
TTh A
1. #
B only
T B
2. %
Both A& B

TETA&B

3.¢

Neither A nor B

A 997 9181 B 997 ATR 1



Question Number : 127 Question Id : 4771873189 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

HTAAT=AT ST =AT ToA® aTAT AAAAT LT+ F=T

Options :
13 rbs

L% 13 FET=AT

12 ribs

12 =4 =AT
2.9

11 rbs

11 FoT=a71

10 rbs

10 FZa1=dT



Question Number : 128 Question Id : 4771873190 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The balance of oxygen and carbon dioxide in the atmosphere iz maintained

through:

AT AT A e <19 AFATESH S 4T g1% Trae ST,

A) Respiration — Plants
ST - aeTd

B) Photosynthesiz — Plants
THTST HE TN - FAETA |

C) Photosyntheszis — Animals
TATST HETT - ATt

Choosze the correct answer

Options :
A & Bonly

L Fh A AT B

B & C only

F<h B @ C

2. %

A & C 01113.'

T A T C

3. %

AB&C

4. %



Question Number : 129 Question Id : 4771873191 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following declared a ‘no drive zone’ within a 2.5 km radius of the Taj

Mahal?

FTATATDT BT arsrHgrar=T 2.5 .15, 76 9\ |7 31gee A (ATe )

Options :

Archaeological Survey of India

1.+

Central Pollution Control Board

a-iiaq giqu Fil :iﬂul HEE:T
2. % 5

Supreme Court of India

qTATS q91g ATATAT
3. %

Ministry of Environment, Forest and Climate Change

4. %



Question Number : 130 Question Id : 4771873192 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water is available in the form of ice and snow?

qeA e arsaT IIoFTdh! [l ST @ A7 BHETT SUAse A8 ?

Options :
L% 10
1
2. % .
5
3. % 6
2
3

4. ¥



Question Number : 131 Question Id : 4771873193 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding renewable and non-renewable energy

sources.
Aq 0 (renewable ) #ATTT ATTATHLIT (non-renewable) IH= AT drdd AT AT
AT,

Options :

Renewable energy sources are always more efficient than non-renewable

sources in ENergy CONVEersion.

Non-renewable energy sources are infinite and can be replenished

naturally within a short time span.

gl ST,

Both renewable and non-renewable energy sources emit equal levels of

oreenhouse gases during energy production.

TAATHLI T AT ATAATHCT AT Zegl IAT A AT 0T 20T AT
SHaE AT JeasiA Hdld.

Renewable energy sources include solar, wind, and geothermal. while non-

renewable sources include coal. oil. and natural gas.

AR TR A IS A THES AL AT-ATHAT AT AT IS AT TATAST Gl

T AGAATRLT AT FTATHEN FIBAT, I AT AAF TTL=T TG el
4. ¢



Question Number : 132 Question Id : 4771873194 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following food items help in inereasing the quantity of blood in the

human body?

Options :

Chips, soda, and white bread

o, Jr=T ety T Js

1. ®

Peanut bar, gingelly bar (Til), and eggs
2.

Pickles, fried snacks, and candy

AT, Tebered TaT9 AT e |
3. %

Instant noodles, coffee. and sugary drinks

4.



Question Number : 133 Question Id : 4771873195 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1565, the five Bahamani Kingdoms joined together and defeated this
Vijayanagara ruler at Rakkasi Tangadi war

3. d. 1565 HET UTH AgHAl ATHTSHIAT UFA AGT TEHTHT TRS=AT TS0 [Ssa-9717

Options :

Achyuta Raya

= AT

1. %

Aliya Rama Raya

AT TTHZTAT
2.

Venkatapati Raya

3. %

Saluva Narasimha Raya

I-I[l:ﬂﬂf CEl i—rlgl ET

4. %



Question Number : 134 Question Id : 4771873196 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following principal followers of Jainism, the Rashtrakuta rulers

were

Options :
Chandra Gupta II and Udayana

=z 11 AT 3=rEET
1. ®

Kharavela and Samprathi

2. %
Hamundaraya and Kharavela
3. %

Amoghavarsha and Krishna IV

FHTEFTT AT FoorT [V
4.



Question Number : 135 Question Id : 4771873197 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1956, the number of States and Union Territories created by the States

Reorganisation Commission
1956 HET 75T A AAT AA TG TATE Heded 154 AT HEoTTiard TaoTr=1 Jear

Options :

14 states and 6 Union Territories

. 14 7759 39T 6 FgaTTiea aer
1.

28 States and 9 Union Territories

28 7T AT 9 T eriaT T=er

18 States and 7 Union Territories

18 7= AT 7 FHaermed TasT

20 States and 8 Union Territories

29 TTA ATT9T 8 FHEeTTiea qaer



Question Number : 136 Question Id : 4771873198 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the Prime Minister of India between 1989 and

1991

Grete o1 UH 1989 T 1991 ZTHTH ATEaTH Yaweld dogd

Options :
LK Gujral

Deve Gowda

= =T
2.9

Vishwanath Prathap Singh

AT wam g

3. ®
Morarji Desal
4. &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.



Question Number : 137 Question Id : 4771873199 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is the aim of 4204 oonstitutional amendment of the Indian

Constitution
GTATATR TH 42 AT F2AT50ed (= Ad T AGe=rdia g Az,

Options :

Making the Judiciary subservient to Parliament

Py AT ASAT A =AT Fef T F20,
1.

Enactment of the Official Language Act

Bringing Education Under Fundamental Rights

Strengthening the State Government vis a vis the Central Government

TTST STTEATAT HESTTHAT=AT A FsTdd FLTATH 77 307,



Question Number : 138 Question Id : 4771873200 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ravi 1s travelling from New York to New Delhi by Aeroplane. Then Rawn

o =TT qET e T HHE =1 2 g 97 24

Options :

loses time of 4 minutes as he crosses every longitude

qod® LGi9T AArsar ar 4 == 9% T™Ear.

1. ®

gains time of 4 minutes as he crosses every longitude

Tor® YA Arareardr 4 =T T fwadr
2.¢

neither gains nor loses the time

3. %

almost loses 24 hours by the time he reaches New Delhi

A1 7T fawedtar qres T Taw-T9% 24 9 THEal

4. %



Question Number : 139 Question Id : 4771873201 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau

AT TAALT F2da=AT TSTT=AT TaHs e BT g1,
Options :

The Satpura Range

ATTLET 717

1. ®

The Mahadev, the Kaimur range and a portion of Maikal Range

2. ¢

Western Ghats

5 % TIEH

Nilagiri Mountain Ranges

EIEREARE LRI

4, %



Question Number : 140 Question Id : 4771873202 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, the major tea producing region among the following is

Options :

The hilly regions of Assam

ATETH T ST 91T
1.+

The Baba Budan Hilly Region

The Nilgiris in Karnataka, Kerala and Tamil Nadu

The Andaman and Nicobar Region

HEHTT AT HFETT 7297

4. %



Question Number : 141 Question Id : 4771873203 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Integrated Watershed Management Programme in

drought prone areas 1s to

TRTHIET ATTHE] THIHT TATATE AT ZATEATTT FEAFATAT T2 297 F1T e

Options :
Strengthen the community and enable them to plan for proper utilisation of

natural resources

THZHTAT dephe HL0T AT AHH BT A7 AT FLOATHAS HH 5 FHLoATT
TAH T
1. ¢

Provide water to drought prone areas continuously

2. %

Undertake plantation in large scale

3. %

Encourage the farmers to undertake community farming

4,



Question Number : 142 Question Id : 4771873204 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Bhalkta Prahalada, the first talkie movie which was released mm 1931 was

produced by

w6 2T &l 1931 HeA wafda et qfgel di@9e (talkie movie) Zrdl FA

Options :
Raghupathi Venkailah Naidu

THIAT AFT AT

1. ®

Edida Nageswara Rao

. FEAGINEEEAE]

2.
Hanumappa Muniappa Reddy
?-". ] I_[\T—ﬁ—cq-r i_%pr

3.¢

M.V.Raghu

4. %



Question Number : 143 Question Id : 4771873205 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
To spread awareness among daliths by using Popular Folk Arts, Bhagya Reddy

Varma started

AL STASTTAT AT FLOATHATSE ATH AT ATRTAT ATTEA AT Tl a9 AAT BTN
HEAT HE el

Options :

Adi Hindu Society

Jagan Mitra Mandali

ST o= 525
2.

Satya Shodak Samaj

T STTEE FHTS

Sharada Sadan



Question Number : 144 Question Id : 4771873206 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This amendment made to the Indian Constitution says that “the state shall
provide free and compulsory Education to all children between the ages 6 and 14

years

ATATT FATTHTATT FeAeaT T FEEAGATe T4 6 o 14 FIFET 74 qaid A7red 9
afT fersror =T, wr T e A

Options :

61° Amendment

61 =t gzt

1. %

4274 Amendment

42 91 gEET

2. %

86t Amendment

86 =T Taedl
3.¢

10224 Amendment

1024t gt

4. %



Question Number : 145 Question Id : 4771873207 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a science lesson, Ms. Patel asks her students to work in small groups to
conduct an experiment and discuss their observations. Which type of learning

Interaction is primarily being emphasized in this activity?

TEASTHTHT =1 27#A19 AHAT T2 [@=AT [FATHA AT A5 T2HET FTH FL0HTH
HETATA. T WA & (A0 =1 F20T AT A7 Fd A T T
T9TEAT HATATAZ ATHEATH | (ol S[ral.

Options :

Student—Content Interaction

=T — Ao arh gare

Student —Teacher Interaction

fe=mT - feras Ja1e

2. %

Student— Student Interaction

ERIEIERIPIE:ELE
3.¢

Teacher—Content Interaction

ot - o At @91



Question Number : 146 Question Id : 4771873208 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is least relevant when evaluating the effectiveness of a

science period plan at the primary level?

STATE TaerE AT FreAE T T A S AT HearT

Options :

Motivation of students in the teaching-learning process

TATIT - AT A4 (AT AT A0

Clarity in explaining the content

2. %

Effectiveness of assessment methods

3. %

Teacher’s dress code

forai=T 99 1=
4.



Question Number : 147 Question Id : 4771873209 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An EVE teacher. Kalpana, always encourages her students to decide the final

result not with a single observation. but after making several observations.

This 18 called:

= EVS Terferst weaa fa=a7 H=metar «@fow e ves S =g a7 a9

FTer e d STaEETal Ag4l IIATied Fid, AT ................ FEITATA.
Options :
Inferencing
| v BT
Classification
I-l l
2. %
Prediction
3. %
Questloning
LR ERIEA]



Question Number : 148 Question Id : 4771873210 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2005, the following are to be taught in Environmental Studies

at Primary Stage

NCF-2005 THTE 919 THF &7 T2 ALTHTT DT e 0870 (et Iiigs
A) Environmental Protection
ERICERII: R b

B) Poverty

AT
C} Child Labour

ATATTA T

]

D) Illiteracy

Heear

E) Caste and Class equalities

Choose the correct one:
q‘ [ ? -\.3 A ; iHE 3 g

Options :
A B .CDE

A, B,C,Donly

) T A B .C.D

A B.C.Eonly

Twm A B.C.E
3. %



A.C.Eonly

T A CE
4.

Question Number : 149 Question Id : 4771873211 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The lesson — “Child Rights” — was developed based on the following theme in
Environmental Studies
HLOATT ATAL

Options :

Safety

ERAC:GEI

at

Food, Health & Hygiene

A, AT AT FF=gd]
2. %

Values and Rights

A AT 2
3.¢

Travel



Question Number : 150 Question Id : 4771873212 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following activity will NOT help the teacher to create the effective EVS

(Environmental Studies) classroom environment

Options :

Discuss in groups

UEGEE R
1. %
Think and Sav
=7 =T =t
2. %
Collect and Record the information (Tables)
HTTRdT BT F5e Al2400 (THcaTd)
3. ®

Reading the books

4. &



